

Page 1 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Se	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Al	Set:	Cat A	It Member:	
0001	151006M	1.000	15,300.00000	15,300.00				
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0004	153003P	(1)	30,000.00000	30,000.00				
PROGRESS SCHEDULE LS		LS						
0005	153005M	1.000	5,000.00000	5,000.00				
PROGRE	ESS SCHEDULE UPD	ATE U						
0006	153011M	300.000	1.00000	300.00				
TRAINE	S	HOUR						
0007	154003P	(1)	225,000.00000	225,000.00				
MOBILIZ	ATION	LS						
0010	157004M	1.000	32,000.00000	32,000.00				
CONSTR	RUCTION LAYOUT	DOLL						



Page 2 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Al	Set:	Cat A	It Member:	
0013	159003M	24.000	1.00000	24.00				
BREAKAW	AY BARRICADE	U						
0014	159006M	345.000	1.00000	345.00				
DRUM		U						
0015	159009M	345.000	18.00000	6,210.00				
TRAFFIC C	CONE	U						
0016	159012M	912.000	13.20000	12,038.40				
CONSTRU	CTION SIGNS	SF						
0017	159015M	1.000	900.00000	900.00				
CONSTRU SIGN, 4' X	CTION IDENTIFICA 8'	TION U						
0018	159027M	1.000	5,000.00000	5,000.00				
FLASHING	ARROW BOARD, 4	Y X 8' U						



Page 3 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019	159030M	2.000	17,000.00000	34,000.00				
PORTABL SIGN	E VARIABLE MESSA	AGE U						
0020	159108M	2.000	5,000.00000	10,000.00				
	CONTROL TRUCK W D CRASH CUSHION	VITH U						
0021	159126M	300,000.000	0.24000	72,000.00				
TEMPORA 4"	ARY TRAFFIC STRIP	ES, LF						
0022	159132M	1,000.000	3.00000	3,000.00				
TEMPOR/ MARKING	ARY PAVEMENT SS	SF						
0023	159141M	1,000.000	95.00000	95,000.00				
TRAFFIC	DIRECTOR, FLAGGE	ER HOUR						



Page 4 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0024	160004M	1.000	600.00000	600.00				
FUEL PR	ICE ADJUSTMENT	DOLL						
0025	160007M	1.000	1,700.00000	1,700.00				
ASPHALT	Γ PRICE ADJUSTME	NT DOLL						
0026	161003P	(1)	5,000.00000	5,000.00				
FINAL CL	EANUP	LS						
0027	201003P	(1)	45,000.00000	45,000.00				
CLEARIN	IG SITE	LS						
0028	401021M	1,000.000	100.00000	100,000.00				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0029	401027M	5,000.000	1.00000	5,000.00				
POLYME	RIZED JOINT ADHE	SIVE LF						



Page 5 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Alt	: Set:	Cat Alt Member:		
0030	401030M	67,632.000	2.78000	188,016.96				
TACK COA	ΛT	GAL						
0031	421010M	4,505.000	99.93000	450,184.65				
SLURRY S	EAL AGGREGATE	E, TYPE T						
0032	421011M	135,250.000	9.97000	1,348,442.50				
SLURRY S	EAL EMULSION	GAL						
0033	453006M	100.000	460.00000	46,000.00				
FULL DEPTH CONCRETE SY PAVEMENT REPAIR, HMA								
0034	602210M	5.000	500.00000	2,500.00				
BICYCLE S	SAFE GRATE	U						



Page 6 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	Set:	Cat Alt Member:		
0035	602213M	105.000	500.00000	52,500.00				
CURB P	IECE	U						
0036	610003M	203,270.000	0.34000	69,111.80				
TRAFFIC	C STRIPES, 4"	LF						
0037	610007M	24,665.000	0.69000	17,018.85				
TRAFFIC	C STRIPES, 8"	LF						
0038	610009M	16,047.000	4.08000	65,471.76				
TRAFFIC MARKINGS SF								
0039	610012M	4,136.000	30.38000	125,651.68				
RPM, MONO-DIRECTIONAL, WHITE ULENS								



Page 7 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Contract Description: Route 70 Vermont Avenue to CR 549 S (Herbertsville Road)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:			
0040	610018M	1,270.000	30.38000	38,582.60				
RPM, MONO-DIRECTIONAL, U AMBER LENS		U						
0041	610021M	99.000	30.38000	3,007.62				
RPM, BI- LENS	DIRECTIONAL, AMB	ER U						
0042	610024M	550.000	18.17000	9,993.50				
REMOVAL OF RPM U								

Section Totals: \$3,119,899.32



Page 8 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Contract Description: Route 70 Vermont Avenue to CR 549 S (Herbertsville Road)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	ON ENGINEERING	N ENGINEERING Cat Alt Set:			Cat Alt Member:		
0008 155009M	1.000	35,000.00000	35,000.00				
FIELD OFFICE TYPE C SET U	JP U						
0009 155027M	7.000	5,000.00000	35,000.00				
FIELD OFFICE TYPE C MAINTENANCE	МО						

Section Totals: \$70,000.00



Page 9 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Contract Description: Route 70 Vermont Avenue to CR 549 S (Herbertsville Road)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICII	PATING (ROADW)	AY) Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	4,319.00000	4,319.00				
OWNER'S AND CONTRACTOR'S PROTECTIVE LIABILITY INSURANCE	DOLL						
0003 152009P	(1)	100.00000	100.00				
POLLUTION LIABILITY INSURAN	CE LS						

Section Totals: \$4,419.00

Page 10 of 10

Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 District(s): S1

Call Order: 124 **Project(s):** NHP-0070(315)

Contract Time: 12/11/17 COMPLETION DATE Min: Max:

Contract Description: Route 70 Vermont Avenue to CR 549 S (Herbertsville Road)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Membe	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CON		NTROL	NTROL Cat Alt Set:		Cat Alt Member:		
0011 158027M	300.000	1.00000	300.00				
INLET FILTER TYPE 1	SF						
0012 158072M	2.000	700.00000	1,400.00				
OIL ONLY EMERGENO TYPE 1	CY SPILL KIT, U						
Section Totals:			\$1,700.00				
Contract Totals			\$3,196,018.32				
	Cost Plus Time Totals		\$3,196,018.32				

() indicates item is bid as Lump Sum

1



Vendor Ranking Page:

Call Order: 124 Contract ID: 17124 Counties: OCEAN

Letting Date: June 01, 2017 10:00 AM District(s): S1

Contract Time: 12/11/17 COMPLETION DATE

Contract Description: Route 70 Vermont Avenue to CR 549 S (Herbertsville Road)

Project(s): NHP-0070(315)

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS INC	\$3,196,018.32	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,